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#Q. Atriangle is formed by three lines
2x+3y—-5=0x+y—1=0,3x+4y—7=0. Let (h, k) be the image of the
centroid of AABC in the line 2x + 4y — 7 = 0, then h? + k* + hk is
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Ans. (A)
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#Q. Two parabolas having common focus at (4, 3) intersect at points A and B.
Find the value of (AB)? give that directrices of these parabolas are along
X-axis and Y-axis respectively.
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Ans. (192)
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0 Gdr-+1= 009, -

#Q. The D € N such that 7 &
xli%l+ — X ([ ] [ ]+ +[ ])21,equalto
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P=23 22«
\K . Q® Ans. (24)
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sin’x 14 cos’x  sin4x
#Q. U1 + sin®x  cos*x sin4x |=LandLy;, =mand L,,, =
sin®x cos’x 1+ sindx \rox —
M, then |IM4 m*| is = -
| — 8l 2 i My —
J_ \/%'m?‘x res s Ainyd T=
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Ans. (B)
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#Q. If a, B are real numbers such that sec?(tan™'a) + cosec?(cot 1) = 36 and
a + B =8 where a > B, then (a3 + g3) is equal to

J—\‘Jcaz'(%cljx) + |+ dz(@f" ﬁ) =3¢ _1 ofi@: |2 §
0y 150 e 4 g3 p=2F
() 148 mi 25+

152 <+p =
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Ans. (C)
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#Q. How many 6 letter words can be formed using the word "MA]'LIS” such that
any letter can be used maximum two times?

X Zam ’_ U\o’li,gusz»\i‘ (/ X 2’ — SX3§o=/Ro0o
() 9824 < B 2dam 2 Aiffer ~3 o L
; 27 R 2121
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Ans. (C)
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N4
#Q. Number of 7-digit number made with the digits 1, 2, 3 such that sum of the
digits is 11 is equal to 2
— = 2|
33 l\l\l""?'-f’-
22 22 11
jr'
Loy
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Ans. (161)
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TONAL
EEEEEE

#Q. If R be arelation defined on (0,7/2) such that xRy :@Zx — tan’y = 1,/then
the relation R is 2 2 —
RO x = [t 1o
T
|+ tan 2 = |+ JC-.,,,?‘;__

Fay x = 4ok
Q Neither reflexive nor transitive X = T ?‘

_ljulq X = 'tqﬂc\JL
() Symmetric and transitive only SNy
"D
e Reflexive and transitive only —

Q/Equivalence relation
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Ans. (D)
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v\/\_/\/\/'\-/\a-\__9 e — —
#Q. If z; lies on|z — 8 + 2ij= 1land z, lieson |z—2 — 6i| = 2,then |z{ — Z3|,n IS

(Where i =/-1)
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Ans. (B)
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#Q. If cos~1x =  + sin~1x + sin~1(2x — 1), then find the sum of all values of ‘x’.
/ A< an-]<

ofo?‘)({z

~
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Ans. (C)
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#Q. Sum of first three terms of an AP with integral common difference is 54 and
sum of first 20 terms lies between 1600 to 1800, find aq4

Q@+ a+d+ a+2d=SY
@—I—o{:(i)$@\: | 3—d] \ g

s 6o < 5, < |bes 0 < arted
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108 2y < [?d\<|‘i\9
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Ans. (C)
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X +6 % 1—ux—/—( = (+1)( x+2) (>+3)

k3+6k%+11k+5 .
#0O. lim Y%
Q n—>oozk 1 (k+3)!
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Ans. (D)
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#Q. Areaenclosed by y> [x — 1|,y + |x] £3,x* <2y —3is A, theis (in sqQ.

units) _
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Ans. (10)

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



“ JEE MAIN 2025 » v PAPER DISCUSSION

BmAH— 3K = 1

/2 sinx+cosx

#Q 80 f 9+16sin2x dx (G»S X+/gl"9 o(?( = OH:
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Ans. (B)
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#Q. The minimum value of n for which the number of integral terms in the
binomial expansion of (71/3 4+ 111/12)" is. is

—
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Cy :?' _ C IIB
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Ans. (A)
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a—1~L — < C—éj-f-—LHc 2SS+ 2€+I¢
#Q. a—Zl—]+3kb—31—5]+klf)E E=E><f7and(ﬁ+f)-(5+?)=168.
Then [c|* = . o
axc = —Lxc ATAZ 2

o/n Crixc=: .

O ss 5
699 T+ a c+ b+ C c=[€R
O o U+ (@+7). \Qaﬂ)ﬂ(aﬂj N3 +2)= ¢y

Y+ ,7L¥>\-|~”7L?\—,Q2
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Ans. (A)
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